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NO. 0 0.3 0
TP-1
(NO. 0+4. 235) 4.235 0.4 | 0.35 1.5 0. 0. 45 1.9
NO. 1 15. 765 0.3 | 0.35 5.5 0. 0. 30 4.7
P2
(NO. 1+5. 686) 5. 686 0.1 | 0.20 1.1 0. 0.10 0.6
NO. 2 14. 314 0.1 | 0.10 1.4
P-3
(NO. 2+16. 618) 16. 618 0.1 ] 0.10 1.7 0.
NO. 3 3. 382 0.5 | 0.30 1.0 0. 0.15 0.5
NO. 4 20. 000 0.4 | 0.45 9.0 0. 0. 40 8.0
P-4
(NO. 4+2. 121) 2.121 0.4 | 0.40 0.8 0. 0.55 1.2
NO. 5 17. 879 0.3 | 0.35 6.3 0.0 0. 0. 50 8.9
NO. 6 20. 000 0.1 | 0.20 4.0 0.1 0.05 1.0 0. 0. 50 10.0
P-5
(NO. 6+3. 670) 3. 670 0.2 | 0.15 0.6 0.2 | 0.15 0.6 0. 0. 50 1.8
P-6
(NO. 6+19. 490) 15. 820 0.0 | 0.10 1.6 0.1 0.15 2.4 0. 0. 30 4.7
NO. 7 0. 554 0.1 | 0.05 0.0 0.3 | 0.20 0.1 0. 0.35 0.2 |#IBv7h
NO. 8 21.734 0.0 | 0.05 1.1 0.2 | 0.25 5.4 0. 0. 40 8.7 |#Ev7h
NO. 8+8. 100 10. 073 0.1 | 0.05 0.5 0.0 | 0.10 1.0 0. 0.35 3.5 |#RIBV7b
No. 8+11. 800 4. 601 0.0 | 0.05 0.2 0.2 | 0.10 0.5 0. 0. 20 0.9 |#IEv7h
NO. 9 8. 200 0.1 0.05 0.4 0.1 0.15 1.2 0. 0.15 1.2
P=7
(NO. 9+14. 101) 14. 101 0.0 | 0.05 0.7 0.0 | 0.05 0.7 0. 0. 30 4.2
NO. 10 5. 899 0.1 0.05 0.3 0. 0. 30 1.8
NO. 11 20. 000 0.3 | 0.20 4.0 0. 0.15 3.0
1P-8
(NO. 11+5. 647) 5. 647 0.4 | 0.35 2.0
1P—9
(NO. 11+19. 494 13. 847 0.7 | 0.55 7.6
NO. 12 0. 506 0.7 | 0.70 0.4
NO. 13 20. 000 0.0 0.6 | 0.65 13.0 0
TP-10
(NO. 13+7. 167) 7.167 0.2 | 0.10 0.7 0.0 | 0.30 2.2 0. 0.25 1.8
NO. 14 12. 833 0.0 | 0.10 1.3 0.4 | 0.20 2.6 0. 0.25 3.2
NO. 14+3. 200 3. 200 0.4 | 0.40 1.3
IP-11
(NO. 14+16. 782 13. 582 1.0 | 0.70 9.5
/N 3t 301. 434 39. 4 55. 8 70. 8
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%Eb.l9+5.690) 5. 690 0.1 0.10 0.6 | 0.4 0.35 2.0

o 88. 908 2.0 22.3 13.0

& i 390. 342 41.4 78.1 83.8
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NO. 0 1.1 0.7
TP-1
(NO. 0+4. 235) 4,235 1.1 | 1.10 4.7 0.7 | 0.70 3.0
NO. 1 15. 765 1.1 | 1.10 17.3 0.7 | 0.70 11.0
TP-2
(NO. 1+5. 686) 5. 686 1.1 | 1.10 6.3 0.7 | 0.70 4.0
NO. 2 14. 314 .1 | 1.10 15.7 0.7 | 0.70 10. 0
TP-3
(NO. 2+16. 618) 16. 618 0.8 | 0.95 15.8 0.4 | 0.55 9.1
NO. 3 3. 382 0.8 | 0.80 2.7 0.4 | 0.40 1.4
NO. 4 20. 000 0.8 | 0.80 16.0 0.4 | 0.40 8.0
P-4
(NO. 4+2. 121) 2.121 0.8 | 0.80 1.7 0.4 | 0.40 0.8
NO. 5 17.879 0.8 | 0.80 14. 3 0.4 | 0.40 7.2
NO. 6 20. 000 0.7 | 0.75 15.0 0.4 | 0.40 8.0
TP-5
(NO. 6+3. 670) 3. 670 0.8 | 0.75 2.8 0.4 | 0.40 1.5
TP—-6
(NO. 6+19. 490) 15. 820 1.1 | 0.95 15.0 0.6 | 0.50 7.9
NO. 7 0. 554 1.0 | 1.05 0.6 0.6 | 0.60 0.3 BRIV b
NO. 8 21.734 0.8 | 0.90 19.6 0.6 | 0.60 13.0 BRIV b
NO. 8+8. 100 10.073 1.0 | 0.90 9.1 0.8 | 0.70 7.1 BRIV b
No. 8+11. 800 4.601 1.0 | 1.00 4.6 0.8 | 0.80 3.7 BRIV b
NO. 9 8.200 1.0 | 1.00 8.2 0.7 | 0.75 6.2
TP-7
(NO. 9+14. 101) 14. 101 1.1 | 1.05 14.8 0.9 | 0.80 11.3
NO. 10 5. 899 .1 | 1.10 6.5 1.1 | 1.00 5.9
NO. 11 20. 000 1.0 | 1.05 21.0 0.8 | 0.95 19.0
TP-8
(NO. 11+5. 647) 5. 647 0.9 | 0.95 5.4 0.6 | 0.70 4.0
P9
(NO. 11+19. 494 13.847 1.0 | 0.95 13.2 0.7 | 0.65 9.0
NO. 12 0. 506 1.1 | 1.05 0.5 0.7 | 0.70 0.4
NO. 13 20. 000 1.0 | 1.05 21.0 0.7 | 0.70 14.0
TP-10
(NO. 13+7. 167) 7.167 1.5 | 1.25 9.0 1.1 | 0.90 6.5
NO. 14 12. 833 1.3 | 1.40 18.0 0.8 | 0.95 12.2
NO. 14+3. 200 3. 200 1.3 | 1.30 4.2 0.9 | 0.85 2.7
TP-11
(NO. 14+16. 782 13.582 0.8 | 1.05 14. 3 0.5 | 0.70 9.5
/)N =t 301. 434 297. 3 196. 7 0.0
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IP-12
(NO. 15+11. 416 11.416 1.1 ] 1.05 12.0 | 0.7 | 0.65 7.4
NO. 16 8. 584 1.3 | 1.20 10.3 0.8 | 0.75 6. 4
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+( 1.00 .00 )X 0.90 X 2
= 9.060 9.1 m
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P e e = A W=300 N = _ .
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PR i Vv = 230 X 2,30 X 1.20 = 6.35 6.4 nm’
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FIRERE T (Cofld - $4) B
40kg/ B LA T il g e 63 200 0.32
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LR E T (Cofl- S R
40kgit 2 170kg/ B LA T il# I K 2 60 0.03 28/ DIz
A $%at
26.97

27.00




4. WEEWRE T HEEHE



4. HEEWRE THESEGR

o5 B AL | FHEE
SEEHRALER T =X 1.0
9. 0kmLA T, 2. 0t#82. 6tLL T [ 2.0
14. OkmPA T, 2. 0t#H2. 6tLA T | Al 3.0
AL t 4.0
e < T E t 7.6




o= i
T o EARLEE T (14 9)
I - B Hi & BoOOOE 5
IEHRALEE T
BT S o, okt T 2. 0vt2. 6101 F
AT
A+ t=5cm No. 8+0. 75 R8. 7~No. 11+4. 85
0.80t/m3 (0. 72+0. 78) X67. 0 .50 | 100.5 |m2
100. 5%0. 05 .03 5.0 'm3
5.03%0. 80 .02 4.0 | t
4.02-+2. 60 .55 2.0 | [|]
14. 0kmLL T, 2. 0t#82. 6tLA T
&ET
R ¢ 80 AL omY IR
L=1. 0m, 113kg/m 67.0X2+-2X1 .00 67.0 | m
67.0X0. 113 .57 7. t
7.572.60 .91 3.0 | |
oy 8 R < 3 .02 4, t
&)@ < TS E .57 7. t




5. AR LEERHE



5. ik THEERHR

(]I Mo B AL | FHEE %
THAERK T =X 1.0
BRI R AR R I m2 110.9
AT - H 120. 0
KET X 1.0
R THEK R 7 E H 33.0
N TR - s & T 1.0
SR T =X 1.0
FIdREES | THEHEE AH 22.0 ﬁﬁ%ﬁg@%

P28 = ANH 44, 0




OB R H &
T |Gk L (124 9)
R - ) B & B K &
THMERK T
TR | BRI R 2
22 X 1524 X 3048
W=802kg| N= 16+4 20. 00 20.0 | #
A= 1.524X3.048%20.0 92. 90 92.9 |m2
= 0.802X20. 00 16. 04 16.0 | t
BER%3. 0X6. Om
W=3208kg 1. 00 1.0 | ¥
A= 3.0X6.0 18. 00 18.0 |m2
110.90 | 110.9 |m2
BB
22 X 1524 X 3048
W=802kg| N= 20. 0 20. 00 20.0 | ¥
N=20.0X6 (H) 120.00 | 120.0 |-«
W= 0.802X%20. 00 16. 04 16.0 | t
KT
™ THEK
R 7 g UENER G S 33. 00 33.0 | H
W TR - 1. 00 1.0 |f&pT
AR P T
AL NIN K
THEHE PRI PHEH S 3 AT 22. 00 22.0 |AH
SRR B 44. 00 44.0 (AR




HBAR B AR 3% (IP-1~N0.2+12.00m,IP-5~NO.6+15.6 TmA8 &)

LARJLT | LRL2 | RS LARIL4 LARIS | LRIL6 vt 1 = EA=ED ;
Tuxs| T | M@ @3 i |mmEx| P | TR | mepgs | FRER %
B TE
LT
= 1
R T
= 1
i
b, EELISMCINED), fEe m3 10.4 37 0.28
AR T
2y 1
PR 1
2.5mA m3 1.8 43 0.04
HeARME Y T
= 1
EELT
= 1
HRARY
b, T TR 1m P 2mAil, L, ML m3 62.1 150 0.41
HRL
B AR B 1 m A m3 37.6 33 1.14
R T
B2y 1
URAH AR E T (FL=2000mm]) &[H
1000kg/ BT 0 M, SeptRe A T i T35 m 48 43 1.12
U R% T (TL=2000mm) &
1000kg/fALL T 0, SERER A THE 795 m 12 43 0.28
PR T (Coflil- SHY) JERE
40kg/Fr AT il 2 He 48 200 0.24
WY LB LA 3 T T
my2 36 167 0.22
IR T
B2y 1
TR T
= 1
BB AR R S T
m2 110 339 0.32 BT+
H %3t
4.05




USSR GNP

LANJLT | LRL2 | LRLS LR)L4 LANJLS | LRNIL6 A = (FI=ED) 3
TExs| TE | @ 4831 i | maEn| FY | BE |mepes | FREH W=
B R T

EH T
X 1
PEHI T
= 1
il
b, EFRDIAN O, B HE m3 41.4 37 1.12
BRREE T
= 1
AR+
2.5mAT m3 78.1 43 1.82
Pk T
X 1
E¥+T
= 1
AR
twb | VN TR ImEL b 2mAyis, ML, ML m3 444 150 2.96
HERL
N ST m3 295 33 8.94
s T
=y 1
UM T (TL=2000mm]) [
1000kg/fE LA T l#0E, FEpsRa Tt T45 ) m 123 43 2.86
URAERE L ((L=2000mm]) /Bf#
1000kg/ ML T HilR0 48, JepE A i .97 m 36.9 43 0.86
UZ AR E T (FL=2000mm)) B
1000kg/fE LA il 4, FepfpeaThE L9756 m 67 43 1.56
UAR#E% & T (TL=2000mmJ) J&f
1000kg##8 2 2000kg/fE LA T il #0 f, FefE A The T9°2] m 159.2 29 5.49
W HHUBG 1A 3% 8 T
m2 367.4 167 2.2
FERT
=y 1
[EISEe I
A -2, B4 50~150mm m 118 167 0.71] 1-14-©-29 EF+EE
arry—h
HER - B IEY . NI FTRR m3 0.1 4 0.03
Hlpp
— B BT - AR AE S nt 0.9 38 0.02
AR~ R —L T
= 1
BT H K- BTN (R {4)
0.69m3% 7 2.1.03m3LL & T 2 1 2
BUGFT AR KM - FE I (A1)
1.03m3%# % 1.29m3LA T T 1 2 0.5
BT HEE K- BT (AR AR)
1.29m3%# % 3.42m3LL F &1 1 1 1
EE e
32.07

33




SIH Rk B H AR

Hi % (No.0~No. 1348E)

LANJLT | LRL2 | LRLS LR)L4 LANJLS | LRNIL6 A = (FI=ED) 3
TExs| TE | @ 4831 i | maEn| FY | BE |mepes | FREH W=
B R T
EH T
X 1
PEHI T
= 1
il
b, EFRDIAN O, B HE m3 37.4 37 1.01
BRREE T
= 1
AR+
2.5mAT m3 40.2 43 0.93
Pk T
X 1
E¥+T
= 1
AR
twb | VN TR ImEL b 2mAyis, ML, ML m3 281.3 150 1.88
HERL
Fie KU B L m A i m3 184.8 33 5.6
s T
=y 1
UM T (TL=2000mm]) [
1000kg/fE LA T l#0E, FEpsRa Tt T45 ) m 123 43 2.86
URAERE L ((L=2000mm]) /Bf#
1000kg/fE LA T il I, FERsRA [ T35 ) m 36.9 43 0.86
UZ AR E T (FL=2000mm)) B
1000kg/fE LA il 4, FepfpeaThE L9756 m 67 43 1.56
UAR#E% & T (TL=2000mmJ) J&f
1000kg##8 2 2000kg/fE LA T il #0 f, FefE A The T9°2] m 33.55 29 1.16
FIRERE T (Cofld - $4) B
40kg/ B LA T il g e 123 200 0.62
W LB IEAA 3% T
m2 216.6 167 1.3
okt~ R —L L
X 1
BT HEE K BT (A {AR)
0.69m3% 7 2.1.03m3LL T T 2 1 2
BT HEE K AT ()
1.03m3%#2.1.29m3LL T T 1 2 0.5
BUGHT H A K- BRI (R {4)
1.29m3% 2 3.42m3LL T & T 1 1 1
FERTERE T (Cofil- gAY JELR
40kgitB 2 170kg/FLLL T il M # 2 120 0.02
LR E T (Cofl- S R
40kgit 2 170kg/ B LA T il# I K 2 60 0.03 28/ DIz
A $%at
21.33

22







Il e B B R SR
=Bl Mmoo B B HANL | R i
TERE P2V 1.0
IR S kA t 16.0
B M DFEA
Fr, BUEHILE SR~ ~ S t 16.0




H & i B #F
T |G (124 9)
R - ) s & B K &
R
(R A B | SR T A
B
RER TR RE LY W= 16.04 16.0 | t

REEH ORGAZ, T L E

At~ LG5~ H

W= 16.04 16.0 | t




